CITY OF	KENT			1		2		3		4		5	•
		BIDDEF	ĒR'S	RL Alia Company	•	Scarsella Bros., Inc	ıC.	Road Construction		Thompson Bros. E	Excavating, Inc.	Johansen Excavat	
	•	NAME A		107 Williams Avenu		P.O. BOX 68697		P.O. BOX 188		18211 NE Fourth F	•	28215 - 112th Str	•
	•	ADDRE		Renton, WA 98057		Seattle, WA 98168	J8-0697	Renton, WA 9805	J57-0188	Vancouver, WA 98	98682	P.O. BOX 674	ı
					•	1						Buckley, WA 9832	.321
		TOTAL	،L		\$1,176,609.26	.	\$1,183,434.44	. [\$1,331,729.15	, [\$1,379,968.00	3 .	\$1,407,278.34
ITEM	-			+	TOTAL		TOTAL	_	TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE		T UNIT PRICE		IT UNIT PRICE		IT UNIT PRICE		IT UNIT PRICE	AMOUNT
	- -							1		1		1	
SCHEDU	ILE I: STREET				•	1			•	1			ı
		1	LS	\$50,000.00	\$50,000.00	\$86,500.00	\$86,500.00	\$75,000.00	\$75,000.00	\$150,000.00	\$150,000.00	\$36,800.00	\$36,800.00
	Clearing and Grubbing	1	LS	\$22,000.00	\$22,000.00		\$15,000.00	· ·	\$5,000.00	· ·	\$35,000.00		\$2,100.00
	Remove Existing Asphalt Concrete Pavement	350		\$9.00	\$3,150.00	· ·	\$350.00	· ·	\$3,150.00		\$5,600.00	· ·	\$5,950.00
	Remove Cement Concrete Sidewalk	100		\$9.00	\$900.00	· ·	\$800.00	· ·	\$1,000.00	*	\$1,600.00	· ·	\$600.00
	Remove Cement Concrete Curb and Gutter	250		\$1.00	\$250.00	· ·	\$1,250.00	· ·	\$1,250.00		\$3,000.00		\$3,250.00
	Traffic Sign Relocation	2	EA	\$100.00	\$200.00		\$300.00		\$500.00		\$1,000.00		\$600.00
	Saw Cut Existing Asphalt Concrete Pavement	125		\$8.00	\$1,000.00		\$750.00		\$625.00		\$500.00		\$418.75
	Saw Cut Existing Asphalt Concrete Pavement	50		\$10.00	\$500.00	· ·	\$600.00		\$550.00	· ·	\$300.00	*	\$250.00
	Unsuitable Foundation Excavation Incl. Haul	600		\$15.00	\$9,000.00		\$18,000.00	· ·	\$19,800.00	· ·	\$20,400.00	*	\$14,400.00
	Crushed Surfacing Top Course, 5/8 Inch Minus	125			\$5,625.00		\$3,343.75	· ·	\$4,125.00		\$3,125.00		\$3,575.00
	Crushed Surfacing Base Course, 1-1/4 Inch Minus	100		1	\$4,500.00		\$2,675.00		\$3,300.00		\$2,500.00		\$3,200.00
	HMA Class 1/2". PG 64-22	150			\$17,250.00		\$2,875.00		\$16,500.00		\$17,250.00		\$16,410.00
	Cold Plant Mix for Temporary Pavement Patch	10			\$17,250.00		\$9,000.00		\$16,500.00		\$17,250.00		\$16,410.00
		100		\$50.00	\$500.00 \$3,800.00		\$1,500.00 \$4,525.00		\$1,750.00 \$3,000.00		\$2,500.00 \$5,000.00		\$2,100.00 \$5,255.00
						· ·			· ·			The state of the s	· ·
	Cement Concrete Sidewalk Ramp Type Parallel A	250		\$1,400.00 \$25.00	\$2,800.00 \$6,350.00	· ·	\$2,600.00 \$6,412.50	· ·	\$2,000.00 \$4,750.00		\$4,000.00 \$7,500.00	· ·	\$3,050.00 \$8,125.00
	Cement Concrete Curb and Gutter	250		\$25.00	\$6,250.00		\$6,412.50		\$4,750.00		\$7,500.00		\$8,125.00
	Remove and Reinstall Fence	200		\$25.00	\$5,000.00		\$3,000.00		\$3,800.00		\$5,000.00		\$5,330.00
	Cornerstone Retaining Wall	125			\$5,250.00		\$2,750.00		\$4,000.00		\$3,750.00		\$3,500.00
	Pothole Utilities	25		\$30.00	\$750.00		\$6,250.00		\$1,250.00	7	\$21,875.00		\$9,000.00
	Remove Existing Landscape Tree	1	EA	\$100.00	\$100.00	· ·	\$500.00	· ·	\$400.00		\$250.00	· ·	\$400.00
1335*	5	120) HR	\$5.00	\$600.00		\$1.20		\$120.00		\$9,600.00		\$7,380.00
1	Schedule I - Street				\$139,425.00	1	\$166,107.45		\$151,870.00	1	\$299,750.00		\$131,693.75
ISCHEDU	ILE II: WATER			ļ	•			1					ı
		1	EA	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$3,100.00	\$3,100.00	\$1,700.00	\$1,700.00
	12 Inch Connection to Existing Water Main	1	EA	\$8,000.00	\$8,000.00		\$5,750.00		\$7,000.00		\$3,300.00		\$4,300.00
	10 Inch Diameter Ductile Iron, CI 52 Restrained Joint Water Mair	ir 200		\$150.00	\$30,000.00		\$17,650.00		\$32,200.00	· ·	\$19,000.00		\$23,400.00
2050	10 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$1,000.00	\$1,000.00		\$4,500.00		\$2,000.00		\$2,000.00		\$2,300.00
	2 Inch Air Release Valve with Chamber	1	EA	\$5,000.00	\$5,000.00		\$3,750.00		\$5,000.00	· ·	\$3,500.00	· ·	\$2,700.00
	Abandon Existing Water Main	1	LS	\$1,000.00	\$1,000.00		\$1,500.00	· ·	\$1,000.00	· ·	\$500.00		\$975.00
	Remove Existing Water Main Pipe	50		\$1.00	\$50.00	· ·	\$750.00	· ·	\$750.00		\$3,000.00	· ·	\$687.50
	Shoring or Extra Excavation Class B	1,000		\$5.00	\$5,000.00		\$500.00		\$1,000.00		\$2,000.00		\$500.00
	Foundation Material, Class I and II	25			\$750.00		\$1,250.00		\$100.00		\$875.00		\$1,112.50
	Pipe Zone Bedding	25 125			\$3,125.00		\$3,125.00	· ·	\$500.00		\$3,750.00	· ·	\$2,706.25
	Controlled Density Fill	125		\$100.00	\$1,000.00		\$1,350.00	· ·	\$2,000.00		\$1,300.00		\$1,350.00
	•	300			\$3,000.00		\$5,850.00		\$6,300.00		\$5,100.00		\$3,885.00
1	Schedule II - Water	300	101.	Ψ10.00	\$59,425.00		\$50,975.00		\$60,850.00		\$47,425.00		\$45,616.25
1	Schedule II - Water				Φ 37,4∠3. ∪∪ ,		⊅ 30,773.00		\$60,030.00		₽47,420.00		₽40,010.20
	ILE IV: STORM SEWER				•								I
	,	375		\$40.00	\$15,000.00		\$9,375.00		\$7,500.00	\$40.00	\$15,000.00	\$30.00	\$11,250.00
4010	Precast 3-Sided 20'W x 7'H Concrete Box Culvert on Cast-in-Plac	ac 106	6 LF	\$3,170.00	\$336,020.00	\$2,750.00	\$291,500.00	\$3,600.00	\$381,600.00	\$2,600.00	\$275,600.00	\$1,756.00	\$186,136.00
4015	Concrete Wing Wall	15	CY	\$125.00	\$1,875.00	\$1,050.00	\$15,750.00		\$9,750.00		\$12,000.00	\$1,025.00	\$15,375.00
	Concrete Head Wall	5		\$125.00	\$625.00	· ·	\$5,250.00		\$3,250.00		\$4,000.00	· ·	\$3,650.00
	Permeable Ballast	1,300			\$19,500.00		\$37,310.00		\$3,900.00		\$32,500.00		\$53,625.00

CITY OF	KENT			1		2		3		4		5		
	Γ NAME: 64th Avenue S. Channel Improvements	BIDDER	r'S	RL Alia Company		Scarsella Bros., In	nc.	Road Construction	n Northwest	Thompson Bros. Excavating, Inc.		Johansen Excavat	ing, Inc.	
BID OPE	NING: May 8, 2012 @ 11:00 a.m.	NAME A	ND	107 Williams Aver	nue South	P.O. BOX 68697		P.O. BOX 188		18211 NE Fourth Plain Road		28215 - 112th Str	reet East	
		ADDRES	SS	Renton, WA 9805	57	Seattle, WA 9816	68-0697	Renton, WA 980	Renton, WA 98057-0188		Vancouver, WA 98682		P.O. BOX 674	
												Buckley, WA 983	21	
		TOTAL			\$1,176,609.26		\$1,183,434.44		\$1,331,729.15		\$1,379,968.00	-	\$1,407,278.34	
ITEM					TOTAL		TOTAL		TOTAL		TOTAL		TOTAL	
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN	
4160	Light Loose Dinron	200	TON	\$60.00	\$18,000.00	\$30.00	00 000 04	\$36.00	¢10,900,00	\$75.00	\$22,500.00	\$32.50	\$9,750.00	
4160 4165	Light Loose Riprap Construction Geotextile for Separation, Non-Woven	300 400	SY	\$1.00	\$18,000.00	\$30.00	\$9,000.00 \$1,000.00	\$5.00	\$10,800.00 \$2,000.00	\$75.00	\$22,500.00	\$2.00	\$9,750.00	
4180	Bank Run Gravel for Trench Backfill	2,300	TON	\$1.00	\$23,000.00	\$2.50 \$19.50	\$44,850.00	\$3.00	\$48,300.00	\$17.00	\$39,100.00	\$2.00 \$12.95	\$29,785.00	
4195	Supplemental Channel Bypass Pumping	2,300	FA	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	
4200	Temporary Channel Bypass	1	LS	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00	\$110,000.00	\$110,000.00	\$20,000.00	\$20,000.00	\$46,300.00	\$46,300.00	
4205	Stormwater Tanker Truck	1	FA	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	
4210	Baker Tank	1	FA	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	
4210	Schedule IV - Storm Sewer		17	\$20,000.00	\$491,920.00	\$20,000.00	\$486,535.00	Ψ20,000.00	\$624,600.00	Ψ20,000.00	\$469,000.00	\$20,000.00	\$404,171.00	
					¥,.===		* *************************************		· · · / · ·		* ****		4 10 1, 11 110	
SCHEDUL	E V: TRAFFIC CONTROL													
5005*	Traffic Control Labor	720	HR	\$45.00	\$32,400.00	\$40.00	\$28,800.00	\$47.00	\$33,840.00	\$43.00	\$30,960.00	\$44.50	\$32,040.00	
5015*	Traffic Control Supervisor	180	HR	\$15.00	\$2,700.00	\$52.00	\$9,360.00	\$47.00	\$8,460.00	\$43.00	\$7,740.00	\$47.50	\$8,550.00	
5020	Temporary Traffic Control Devices	1	LS	\$5,000.00	\$5,000.00	\$35,000.00	\$35,000.00	\$7,000.00	\$7,000.00	\$15,000.00	\$15,000.00	\$23,600.00	\$23,600.00	
5030*	Portable Changeable Message Sign (PCMS)	170	DAY	\$75.00	\$12,750.00	\$1.00	\$170.00	\$55.00	\$9,350.00	\$5.00	\$850.00	\$134.00	\$22,780.00	
5035*	Sequential Arrow Sign (SAS)	170	DAY	\$30.00	\$5,100.00	\$1.00	\$170.00	\$55.00	\$9,350.00	\$40.00	\$6,800.00	\$80.50	\$13,685.00	
5060	Type III Barricade	5	EA	\$400.00	\$2,000.00	\$300.00	\$1,500.00	\$250.00	\$1,250.00	\$150.00	\$750.00	\$600.00	\$3,000.00	
5115	Plastic Stop Line	25	LF	\$60.00	\$1,500.00	\$10.00	\$250.00	\$20.00	\$500.00	\$25.00	\$625.00	\$16.75	\$418.75	
	Schedule V - Traffic Control				\$61,450.00		\$75,250.00		\$69,750.00		\$62,725.00		\$104,073.75	
SCHEDUL	.E VII: TEMPORARY EROSION AND SEDIMENTATION CON	NTROL												
7000*	Seeding, Fertilizing, and Mulching	75	SY	\$0.60	\$45.00	\$0.60	\$45.00	\$3.00	\$225.00	\$1.25	\$93.75	\$0.85	\$63.75	
7015*	Inlet Protection	1	EA	\$50.00	\$50.00	\$125.00	\$125.00	\$90.00	\$90.00	\$100.00	\$100.00	\$80.00	\$80.00	
7020*	Straw Mulch	100	SY	\$3.00	\$300.00	\$3.00	\$300.00	\$15.00	\$1,500.00	\$5.00	\$500.00	\$2.00	\$200.00	
7025*	Clear Plastic Covering	100	SY	\$3.00	\$300.00	\$3.50	\$350.00	\$5.00	\$500.00	\$1.00	\$100.00	\$3.55	\$355.00	
7030*	ESC Lead	500	HR	\$15.00	\$7,500.00	\$0.01	\$5.00	\$5.00	\$2,500.00	\$30.00	\$15,000.00	\$66.45	\$33,225.00	
7035*	Street Cleaning	120	HR	\$15.00	\$1,800.00	\$100.00	\$12,000.00	\$5.00	\$600.00	\$110.00	\$13,200.00	\$117.00	\$14,040.00	
	Schedule VII - TESC				\$9,995.00		\$12,825.00		\$5,415.00		\$28,993.75		\$47,963.75	
SCHEDIII	E VIII: ROADSIDE RESTORATION													
8005*	Compost Amended Topsoil	5	CY	\$50.00	\$250.00	\$32.00	\$160.00	\$55.00	\$275.00	\$35.00	\$175.00	\$51.35	\$256.75	
8015*	Bark or Wood Chip Mulch	10	CY	\$50.00	\$500.00	\$32.00	\$340.00	\$55.00	\$550.00	\$50.00	\$500.00	\$47.00	\$470.00	
8085	White Rock Rose (Cystis hybridus) (5 gallon)	6	EA	\$30.00	\$180.00	\$34.00	\$180.00	\$100.00	\$600.00	\$200.00	\$1,200.00	\$31.25	\$187.50	
0000	Schedule VIII - Roadside Resetoration	Ü	L	\$50.55	\$930.00	\$55.55	\$680.00	Ψ100.00	\$1,425.00	Ψ200.00	\$1,875.00	\$51.25	\$914.25	
	TE A-I: STREET	1	1.0	¢10,000,00	¢10,000,00	¢20,000,00	¢20,000,00	¢0,000,00	¢0,000,00	¢17,000,00	¢17,000,00	¢14.100.00	¢14 100 00	
	Mobilization	1 1	LS	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00	\$8,000.00	\$8,000.00	\$17,000.00	\$17,000.00	\$14,100.00	\$14,100.00	
	Clearing and Grubbing	-	LS	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$9,000.00	\$9,000.00	\$15,000.00	\$15,000.00	\$9,800.00	\$9,800.00	
1010A*	Remove Existing AsphAlt Concrete Pavement	2,000	SY	\$9.00	\$18,000.00	\$1.00	\$2,000.00	\$9.00	\$18,000.00	\$16.00 \$16.00	\$32,000.00	\$17.00	\$34,000.00	
1020A* 1025A*	Remove Cement Concrete Sidewalk	250 250	SY LF	\$9.00 \$1.00	\$2,250.00 \$250.00	\$8.00 \$5.00	\$2,000.00 \$1,250.00	\$10.00 \$5.00	\$2,500.00 \$1,250.00	\$16.00 \$12.00	\$4,000.00 \$3,000.00	\$6.00 \$13.00	\$1,500.00 \$3,250.00	
1025A^	Remove Cement Concrete Curb and Gutter Roadway Excavation Incl. Haul	250 125	CY	\$1.00	\$250.00	\$5.00 \$5.00	\$1,250.00	\$33.00	\$1,250.00 \$4,125.00	\$12.00	\$3,750.00	\$13.00	\$3,250.00 \$6,418.75	
	Crushed Surfacing Top Course, 5/8 Inch Minus	125 250	TON	\$12.00 \$45.00						\$25.00		\$28.60		
1080A* 1100A*	HMA Class 1/2", PG 64-22	250 550	TON	\$45.00 \$115.00	\$11,250.00 \$63,250.00	\$26.75 \$60.00	\$6,687.50 \$33,000.00	\$33.00 \$110.00	\$8,250.00 \$60,500.00	\$25.00 \$115.00	\$6,250.00 \$63,250.00	\$28.60 \$109.40	\$7,150.00 \$60,170.00	
	Cement Concrete Sidewalk	250	SY	\$115.00	\$9,500.00	\$45.25	\$11,312.50	\$30.00	\$7,500.00	\$50.00	\$12,500.00	\$109.40 \$52.55	\$13,137.50	
	Cement Concrete Sudewalk Cement Concrete Curb and Gutter	250	LF	\$38.00	\$6,250.00		\$6,412.50	\$19.00	\$4,750.00		\$7,500.00	\$32.50	\$8,125.00	
12USA^	Cement Concrete Curb and Gutter	250	LF	⊅∠ 3.00	φυ,∠ου.00	\$20.00	φ0,41∠.30	\$19.00	φ4,73U.UU	1 \$30.00	φ1,300.00	J \$3∠.3U	\$0,120.UC	

CITY OF KENT			1		2		3		4		5	
PROJECT NAME: 64th Avenue S. Channel Improvements	BIDDER'	'S	RL Alia Company		Scarsella Bros., Ir	nc.	Road Constructio	n Northwest	Thompson Bros. Excavating, Inc.		Johansen Excava	ting, Inc.
BID OPENING: May 8, 2012 @ 11:00 a.m.	NAME AI	ND	107 Williams Aver	nue South	P.O. BOX 68697		P.O. BOX 188		18211 NE Fourth Plain Road		28215 - 112th Street East	
	ADDRES	S	Renton, WA 9805	57	Seattle, WA 9816	68-0697	Renton, WA 98057-0188		Vancouver, WA 98682		P.O. BOX 674	
											Buckley, WA 983	21
	TOTAL			\$1,176,609.26		\$1,183,434.44		\$1,331,729.15		\$1,379,968.00		\$1,407,278.34
ITEM				TOTAL	_	TOTAL	_	TOTAL		TOTAL		TOTAL
NO. DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUN	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1265A* Remove and Reinstall Fence	500	LF	\$25.00	\$12,500.00	\$15.00	\$7,500.00	\$19.00	\$9,500.00	\$25.00	\$12,500.00	\$26.65	\$13,325.00
1335* Watering	160	HR	\$5.00	\$800.00	\$0.01	\$1.60	\$1.00	\$160.00	\$80.00	\$12,800.00	\$61.50	\$9,840.00
Alternate A-I - Street				\$140,550.00		\$115,789.10		\$133,535.00		\$189,550.00		\$180,816.25
ALTERNATE A-IV: STORM SEWER												
4001A Removal and Disposal of Sediment, Refuse and Vegetation fr	om 3,000	TON	\$20.00	\$60,000.00	\$25.00	\$75,000.00	\$21.00	\$63,000.00	\$13.00	\$39,000.00	\$22.00	\$66,000.00
4195A Supplemental Channel Bypass Pumping	1	FA	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00
4200A Temporary Channel Bypass	1	LS	\$30,000.00	\$30,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$163,000.00	\$163,000.00
4205A Stormwater Tanker Truck	1	FA	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00
4210A Baker Tank	1	FA	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00
Alternate A-IV - Storm Sewer				\$108,500.00		\$103,500.00		\$86,500.00		\$72,500.00		\$247,500.00
ALTERNATE A-V: TRAFFIC CONTROL												
5005A* Traffic Control Labor	400	HR	\$45.00	\$18,000.00	\$40.00	\$16,000.00	\$47.00	\$18,800.00	\$43.00	\$17,200.00	\$44.50	\$17,800.00
5015A* Traffic Control Supervisor	100	HR	\$15.00	\$1,500.00	\$52.00	\$5,200.00	\$47.00	\$4,700.00	\$43.00	\$4,300.00	\$47.50	\$4,750.00
5020A Temporary Traffic Control Devices	1	LS	\$2,000.00	\$2,000.00	\$10,000.00	\$10,000.00	\$1,500.00	\$1,500.00	\$15,000.00	\$15,000.00	\$11,800.00	\$11,800.00
5030A* Portable Changeable Message Sign (PCMS)	85	DAY	\$75.00	\$6,375.00	\$1.00	\$85.00	\$55.00	\$4,675.00	\$5.00	\$425.00	\$134.00	\$11,390.00
5035A* Sequential Arrow Sign (SAS)	85	DAY	\$30.00	\$2,550.00	\$1.00	\$85.00	\$55.00	\$4,675.00	\$40.00	\$3,400.00	\$80.50	\$6,842.50
Alternate A-V - Traffic Control				\$30,425.00		\$31,370.00		\$34,350.00		\$40,325.00		\$52,582.50
ALTERNATE A - VII: TEMPORARY EROSION AND SEDIMENTATION	I CONTROL											
7000A* Seeding, Fertilizing, and Mulching	3,500	SY	\$0.60	\$2,100.00	\$0.60	\$2,100.00	\$3.00	\$10,500.00	\$1.25	\$4,375.00	\$0.85	\$2,975.00
7010A Erosion Control Blanket	3,500	SY	\$1.25									
7015A* Inlet Protection	2	EA	\$50.00	\$4,375.00 \$100.00	\$3.00 \$125.00	\$10,500.00 \$250.00	\$2.00 \$90.00	\$7,000.00 \$180.00	\$3.00 \$100.00	\$10,500.00 \$200.00	\$5.60 \$80.00	\$19,600.00 \$160.00
7015A* Iffilet Protection 7020A* Straw Mulch	500	SY	\$3.00	\$1,500.00	\$123.00	\$1,500.00	\$15.00	\$7,500.00	\$100.00	\$2,500.00	\$2.00	\$1,000.00
7025A* Clear Plastic Covering	500	SY	\$3.00	\$1,500.00	\$3.50	\$1,750.00	\$5.00	\$2,500.00	\$1.00	\$500.00	\$3.55	\$1,775.00
7030A* ESC Lead	250	HR	\$15.00	\$3,750.00	\$0.01	\$1,750.00	\$5.00	\$1,250.00	\$30.00	\$7,500.00	\$66.45	\$1,775.00
7035A* Street Cleaning	60	HR	\$15.00	\$900.00	\$100.00	\$6,000.00	\$5.00	\$300.00	\$110.00	\$6,600.00	\$117.00	\$7,020.00
Alternate A-VII - TESC	00	TIK	\$15.00	\$14,225.00	\$100.00	\$22,102.50	\$5.00	\$29,230.00	\$110.00	\$32,175.00	\$117.00	\$49,142.50
				7,===:::		,——,··		+,		7-2,		, , <u> </u>
ALTERNATE A- VIII - ROADSIDE RESTORATION												
8005A* Compost Amended Topsoil	150	CY	\$50.00	\$7,500.00	\$32.00	\$4,800.00	\$55.00	\$8,250.00	\$35.00	\$5,250.00	\$51.35	\$7,702.50
8015A* Bark or Wood Chip Mulch	50	CY	\$50.00	\$2,500.00	\$34.00	\$1,700.00	\$55.00	\$2,750.00	\$50.00	\$2,500.00	\$47.00	\$2,350.00
8030A Shore Pine (Pinus contorta var. contorta) (5 gallon)	18	EA	\$50.00	\$900.00	\$28.00	\$504.00	\$50.00	\$900.00	\$50.00	\$900.00	\$50.25	\$904.50
8035A Bitter Cherry (Prunus emarginata) (2 gallon)	18	EA	\$12.00	\$216.00	\$18.00	\$324.00	\$11.00	\$198.00	\$12.00	\$216.00	\$42.40	\$763.20
8040A Beaked Hazelnut (Corylus cornuta) (1 gallon)	33	EA	\$8.00	\$264.00	\$9.00	\$297.00	\$8.00	\$264.00	\$8.00	\$264.00	\$9.50	\$313.50
8045A Black Hawthorn (Crataegus douglasii) (1 gallon)	33	EA	\$7.00	\$231.00	\$9.00	\$297.00	\$7.00	\$231.00	\$8.00	\$264.00	\$9.50	\$313.50
8050A Snowberry (Symphoricarpos albus) (1 gallon)	33	EA	\$7.00	\$231.00		\$297.00	\$7.00	\$231.00	\$8.00	\$264.00	\$9.50	\$313.50
8055A Nootka Rose (Rosa nutkana) (1 gallon)	33	EA	\$7.00	\$231.00	\$9.00	\$297.00	\$7.00	\$231.00	\$8.00	\$264.00	\$9.50	\$313.50
8060A Tall Oregon Grape (Mahonia aquifolium) (1 gallon)	33	EA	\$7.00	\$231.00	\$9.00	\$297.00	\$7.00	\$231.00	\$8.00	\$264.00	\$9.50	\$313.50
8065A Sitka Willow (Salix sitchensis) (3' ht. min. live stake)	1,070	EA	\$2.00	\$2,140.00	\$2.50	\$2,675.00	\$2.00	\$2,140.00	\$2.00	\$2,140.00	\$2.80	\$2,996.00
8070A Red Osier Dogwood (Cornus sericea) (3' ht. min. live stake)	360	EA	\$2.00	\$720.00	\$2.50	\$900.00	\$2.00	\$720.00	\$2.00	\$720.00	\$2.80	\$1,008.00
8075A Pacific Ninebark (Physocarpus capitatus) (1 gallon)	180	EA	\$7.00	\$1,260.00	\$9.00	\$1,620.00	\$7.00	\$1,260.00	\$8.00	\$1,440.00	\$9.50	\$1,710.00
8080A Black Twinberry (Lonicera involucrata) (1 gallon)	180	EA	\$7.00	\$1,260.00	\$9.00	\$1,620.00	\$7.00	\$1,260.00	\$8.00	\$1,440.00	\$9.50	\$1,710.00
Alternate A-VIII - Roadside Restoration				\$17,684.00		\$15,628.00		\$18,666.00		\$15,926.00		\$20,711.70

CITY OF KENT		1	2	3	4	5
PROJECT NAME: 64th Avenue S. Channel Improvements	BIDDER'S	RL Alia Company	Scarsella Bros., Inc.	Road Construction Northwest	Thompson Bros. Excavating, Inc.	Johansen Excavating, Inc.
BID OPENING: May 8, 2012 @ 11:00 a.m.	NAME AND	107 Williams Avenue South	P.O. BOX 68697	P.O. BOX 188	18211 NE Fourth Plain Road	28215 - 112th Street East
	ADDRESS	Renton, WA 98057	Seattle, WA 98168-0697	Renton, WA 98057-0188	Vancouver, WA 98682	P.O. BOX 674
						Buckley, WA 98321
	TOTAL	\$1,176,609.26	\$1,183,434.44	\$1,331,729.15	\$1,379,968.00	\$1,407,278.34
ITEM		TOTAL	. TOTAL	TOTAL	TOTAL	TOTAL
NO. DESCRIPTION	QTY UNIT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT
BID SUMMARY						
BASE BID						
Schedule I - Street		\$139,425.00	\$166,107.45	\$151,870.00	\$299,750.00	\$131,693.75
Schedule II - Water		\$59,425.00	\$50,975.00	\$60,850.00	\$47,425.00	\$45,616.25
Schedule IV - Storm Sewer		\$491,920.00	\$486,535.00	\$624,600.00	\$469,000.00	\$404,171.00
Schedule V - Traffic Control		\$61,450.00	\$75,250.00	\$69,750.00	\$62,725.00	\$104,073.75
Schedule VII - Temporary Erosion and Sedimentation	Control	\$9,995.00	\$12,825.00	\$5,415.00	\$28,993.75	\$47,963.75
ScheduleVIII - Roadside Restoration		\$930.00	\$680.00	\$1,425.00	\$1,875.00	\$914.25
Sub-Total		\$763,145.00	\$792,372.45	\$913,910.00	\$909,768.75	\$734,432.75
WSST 9.5%		\$72,498.78	\$75,275.38	\$86,821.45	\$86,428.03	\$69,771.11
Total Base Bid Amount		\$835,643.78	\$867,647.83	\$1,000,731.45	\$996,196.78	\$804,203.86
ALTERNATE A						
Alternate A-I - Street		\$140,550.00	\$115,789.10	\$133,535.00	\$189,550.00	\$180,816.25
Alternate A-IV - Storm Sewer		\$108,500.00	\$103,500.00	\$86,500.00	\$72,500.00	\$247,500.00
Alternate A-V - Traffic Control		\$30,425.00	\$31,370.00	\$34,350.00	\$40,325.00	\$52,582.50
Alternate A-VII - Temporary Erosion and Sedimentati	on Control	\$14,225.00	\$22,102.50	\$29,230.00	\$32,175.00	\$49,142.50
Alternate A-VIII - Roadside Restoration		\$17,684.00	\$15,628.00	\$18,666.00	\$15,926.00	\$20,711.70
Sub-Total		\$311,384.00	\$288,389.60	\$302,281.00	\$350,476.00	\$550,752.95
WSST 9.5%		\$29,581.48	\$27,397.01	\$28,716.70	\$33,295.22	\$52,321.53
Total Alternate A Amount		\$340,965.48	\$315,786.61	\$330,997.70	\$383,771.22	\$603,074.48
Total Bid Amount		\$1,176,609.26	\$1,183,434.44	\$1,331,729.15	\$1,379,968.00	\$1,407,278.34

CITY OF KENT				6		7		8			
PROJEC	T NAME: 64th Avenue S. Channel Improvements	BIDDER	'S	Westwater Constru	uction Co.	R.W. Scott Consti	ruction Co.	Ceccanti, Inc.		ENGINEER'S EST	IMATE
BID OP	ENING: May 8, 2012 @ 11:00 a.m.	NAME A	ND	31833 Kent-Blk Di	amond Rd.	4005 West Valley	4005 West Valley Hwy. #A		4116 Brookdale Road E.		
		ADDRES		Auburn, WA 9809		Auburn, WA 980	•	Tacoma, WA 984		Garrett Inouye	
				,		,					
		TOTAL			\$1,431,950.12		\$1,519,559.51		\$2,007,323.34		\$1,360,359.56
ITEM					TOTAL		TOTAL		TOTAL	_	TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
SCHEDU	LE I: STREET										
1000	Mobilization	1	LS	\$50,000.00	\$50,000.00	\$253,650.00	\$253,650.00	\$350,000.00	\$350,000.00	\$55,000.00	\$55,000.00
1005	Clearing and Grubbing	1	LS	\$20,000.00	\$20,000.00	\$5,000.00	\$5,000.00	\$3,700.00	\$3,700.00	\$500.00	\$500.00
1010*	Remove Existing Asphalt Concrete Pavement	350	SY	\$1.00	\$350.00	\$10.00	\$3,500.00	\$6.00	\$2,100.00	\$7.00	\$2,450.00
1020*	Remove Cement Concrete Sidewalk	100	SY	\$1.00	\$100.00	\$15.00	\$1,500.00	\$6.00	\$600.00	\$12.00	\$1,200.00
1025*	Remove Cement Concrete Sidewalk Remove Cement Concrete Curb and Gutter	250	LF	\$1.00	\$250.00	\$6.00	\$1,500.00	\$2.00	\$500.00	\$7.50	\$1,200.00
1025	Traffic Sign Relocation	250	EA	\$150.00	\$300.00	\$300.00	\$600.00	\$300.00	\$600.00	\$60.00	\$1,875.00
1045	•	125	LF	\$1.00	\$125.00	\$6.00	\$750.00	\$5.00	\$625.00	\$4.00	\$500.00
	Saw Cut Existing Asphalt Concrete Pavement		LF								\$325.00
1055	Saw Cut Existing Cement Concrete Pavement	50		\$2.00	\$100.00	\$10.00	\$500.00	\$8.00	\$400.00	\$6.50	
1065	Unsuitable Foundation Excavation Incl. Haul	600	CY	\$10.00	\$6,000.00	\$30.00	\$18,000.00	\$30.00	\$18,000.00	\$15.00	\$9,000.00
1080*	Crushed Surfacing Top Course, 5/8 Inch Minus	125	TON	\$15.00	\$1,875.00	\$25.00	\$3,125.00	\$40.00	\$5,000.00	\$20.00	\$2,500.00
1085	Crushed Surfacing Base Course, 1-1/4 Inch Minus	100	TON	\$15.00	\$1,500.00	\$25.00	\$2,500.00	\$40.00	\$4,000.00	\$20.00	\$2,000.00
1100*	HMA Class 1/2", PG 64-22	150	TON	\$80.00	\$12,000.00	\$89.00	\$13,350.00	\$100.00	\$15,000.00	\$100.00	\$15,000.00
1125	Cold Plant Mix for Temporary Pavement Patch	10	TON	\$70.00	\$700.00	\$125.00	\$1,250.00	\$150.00	\$1,500.00	\$120.00	\$1,200.00
1145*	Cement Concrete Sidewalk	100	SY	\$22.00	\$2,200.00	\$25.00	\$2,500.00	\$20.00	\$2,000.00	\$35.00	\$3,500.00
1150	Cement Concrete Sidewalk Ramp Type Parallel A	2	EA	\$1,500.00	\$3,000.00	\$1,000.00	\$2,000.00	\$1,200.00	\$2,400.00	\$1,500.00	\$3,000.00
1205*	Cement Concrete Curb and Gutter	250	LF	\$13.00	\$3,250.00	\$17.90	\$4,475.00	\$20.00	\$5,000.00	\$20.00	\$5,000.00
1265*	Remove and Reinstall Fence	200	LF	\$12.00	\$2,400.00	\$16.00	\$3,200.00	\$30.00	\$6,000.00	\$20.00	\$4,000.00
1300	Cornerstone Retaining Wall	125	SFWF	\$40.00	\$5,000.00	\$30.00	\$3,750.00	\$85.00	\$10,625.00	\$25.00	\$3,125.00
1315	Pothole Utilities	25	EA	\$150.00	\$3,750.00	\$400.00	\$10,000.00	\$400.00	\$10,000.00	\$500.00	\$12,500.00
1325	Remove Existing Landscape Tree	1	EA	\$400.00	\$400.00	\$750.00	\$750.00	\$700.00	\$700.00	\$225.00	\$225.00
1335*	Watering	120	HR	\$35.00	\$4,200.00	\$40.00	\$4,800.00	\$100.00	\$12,000.00	\$100.00	\$12,000.00
	Schedule I - Street				\$117,500.00		\$336,700.00		\$450,750.00		\$135,020.00
SCHEDU	LE II: WATER										
2010	10 Inch Connection to Existing Water Main	1	EA	\$6,000.00	\$6,000.00	\$2,000.00	\$2,000.00	\$1,900.00	\$1,900.00	\$2,200.00	\$2,200.00
2015	12 Inch Connection to Existing Water Main	1	EA	\$17,000.00	\$17,000.00	\$9,700.00	\$9,700.00	\$3,700.00	\$3,700.00	\$2,200.00	\$2,200.00
2030	10 Inch Diameter Ductile Iron, CI 52 Restrained Joint Water Main	200	LF	\$60.00	\$12,000.00	\$190.69	\$38,138.00	\$100.00	\$20,000.00	\$80.00	\$16,000.00
2050	10 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$2,000.00	\$2,000.00	\$750.00	\$750.00	\$1,500.00	\$1,500.00	\$1,700.00	\$1,700.00
2090	2 Inch Air Release Valve with Chamber	1	EA	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$2,200.00	\$2,200.00	\$5,000.00	\$5,000.00
2110	Abandon Existing Water Main	1	LS	\$4,000.00	\$4,000.00	\$100.00	\$100.00	\$1,700.00	\$1,700.00	\$2,000.00	\$2,000.00
2115	Remove Existing Water Main Pipe	50	LF	\$20.00	\$1,000.00	\$5.00	\$250.00	\$10.00	\$500.00	\$15.00	\$750.00
2255	Shoring or Extra Excavation Class B	1,000	SF	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$0.50	\$500.00
2260	Foundation Material, Class I and II	25	TON	\$15.00	\$375.00	\$25.00	\$625.00	\$25.00	\$625.00	\$20.00	\$500.00
2275		125	TON	\$15.00	\$1,875.00	\$12.00	\$1,500.00	\$20.00	\$2,500.00	\$20.00	\$2,500.00
	Pipe Zone Bedding				\$800.00	\$12.00	\$1,500.00				\$1,000.00
2280	Controlled Density Fill	10	CY	\$80.00				\$150.00	\$1,500.00	\$100.00	
2285^	Bank Run Gravel for Trench Backfill	300	TON	\$10.00	\$3,000.00	\$18.50	\$5,550.00	\$18.00	\$5,400.00	\$15.00	\$4,500.00
	Schedule II - Water				\$55,050.00		\$67,113.00		\$42,525.00		\$38,850.00
SCHEDU	LE IV: STORM SEWER										
4005	Remove Existing 60 Inch Diameter RCP Culvert Pipe	375	LF	\$20.00	\$7,500.00	\$50.00	\$18,750.00	\$100.00	\$37,500.00	\$75.00	\$28,125.00
4010	Precast 3-Sided 20'W x 7'H Concrete Box Culvert on Cast-in-Place	106	LF	\$5,057.00	\$536,042.00	\$2,045.18	\$216,789.08	\$6,000.00	\$636,000.00	\$1,505.00	\$159,530.00
4015	Concrete Wing Wall	15	CY	\$100.00	\$1,500.00	\$10.00	\$150.00	\$150.00	\$2,250.00	\$825.00	\$12,375.00
4020	Concrete Head Wall	5	CY	\$100.00	\$500.00	\$10.00	\$50.00	\$150.00	\$750.00	\$600.00	\$3,000.00
4155	Permeable Ballast	1,300	TON	\$5.00	\$6,500.00		\$45,240.00	\$25.00	\$32,500.00	\$20.00	\$26,000.00

CITY OF KEN	NT			6		7		8				
PROJECT NA	AME: 64th Avenue S. Channel Improvements	BIDDER	'S	Westwater Constr	ruction Co.	R.W. Scott Const	truction Co.	Ceccanti, Inc.		ENGINEER'S ESTIMATE		
3ID OPENIN	IG: May 8, 2012 @ 11:00 a.m.	NAME A	.ND	31833 Kent-Blk D	iamond Rd.	4005 West Valley	y Hwy. #A	4116 Brookdale R	Road E.	Garrett Inouye		
		ADDRES	SS	Auburn, WA 9809	92	Auburn, WA 980	001	Tacoma, WA 984	46			
		TOTAL			\$1,431,950.12		\$1,519,559.51		\$2,007,323.34		\$1,360,359.56	
TEM					TOTAL		TOTAL		TOTAL		TOTAL	
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT			UNIT PRICE		UNIT PRICE	AMOUNT	
4160 Ligi	ht Loose Riprap	300	TON	\$40.00	\$12,000.00	\$34.80	\$10,440.00	\$30.00	\$9,000.00	\$50.00	\$15,000.00	
4165 Cor	nstruction Geotextile for Separation, Non-Woven	400	SY	\$2.00	\$800.00	\$4.00	\$1,600.00	\$2.00	\$800.00	\$5.00	\$2,000.00	
4180 Bar	nk Run Gravel for Trench Backfill	2,300	TON	\$10.00	\$23,000.00	\$18.50	\$42,550.00	\$18.00	\$41,400.00	\$15.00	\$34,500.00	
4195 Sup	pplemental Channel Bypass Pumping	1	FA	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	
4200 Ter	mporary Channel Bypass	1	LS	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$37,000.00	\$37,000.00	\$10,000.00	\$10,000.00	
4205 Sto	ormwater Tanker Truck	1	FA	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	
	ker Tank	1	FA	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	
	nedule IV - Storm Sewer				\$645,342.00		\$398,069.08		\$844,700.00		\$338,030.00	
CHEDINE V	TRAFFIC CONTROL											
	offic Control Labor	720	HR	\$50.00	\$36,000.00	\$49.00	\$35,280.00	\$50.00	\$36,000.00	\$40.00	\$28,800.00	
	iffic Control Supervisor	180	HR	\$55.00	\$9,900.00	\$52.00	\$9,360.00	\$100.00	\$18,000.00	\$45.00	\$28,800.00	
		1	LS	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$3,700.00	\$3,700.00	\$2,500.00	\$2,500.00	
	mporary Traffic Control Devices	-		The state of the s			\$12,750.00	The state of the s				
	table Changeable Message Sign (PCMS)	170	DAY	\$40.00	\$6,800.00	\$75.00		\$20.00	\$3,400.00	\$140.00	\$23,800.00	
	quential Arrow Sign (SAS)	170	DAY	\$20.00	\$3,400.00	\$25.00	\$4,250.00	\$10.00	\$1,700.00	\$70.00	\$11,900.00	
٠.	pe III Barricade	5	EA	\$500.00	\$2,500.00	\$400.00	\$2,000.00	\$200.00	\$1,000.00	\$400.00	\$2,000.00	
	stic Stop Line nedule V - Traffic Control	25	LF	\$25.00	\$625.00 \$64,225.00	\$20.00	\$500.00 \$68,140.00	\$30.00	\$750.00 \$64,550.00	\$6.00	\$150.00 \$77,250.00	
SCHEDULE VI	I: TEMPORARY EROSION AND SEDIMENTATION CON	ITROL										
7000* See	eding, Fertilizing, and Mulching	75	SY	\$2.00	\$150.00	\$3.00	\$225.00	\$1.00	\$75.00	\$0.50	\$37.50	
	et Protection	1	EA	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$100.00	\$125.00	\$125.00	
7020* Str	aw Mulch	100	SY	\$2.00	\$200.00	\$5.00	\$500.00	\$2.00	\$200.00	\$5.00	\$500.00	
	ear Plastic Covering	100	SY	\$2.00	\$200.00	\$5.00	\$500.00	\$2.00	\$200.00	\$2.00	\$200.00	
	C Lead	500	HR	\$20.00	\$10,000.00	\$50.00	\$25,000.00	\$10.00	\$5,000.00	\$30.00	\$15,000.00	
	eet Cleaning	120	HR	\$125.00	\$15,000.00	\$40.00	\$4,800.00	\$100.00	\$12,000.00	\$100.00	\$12,000.00	
	nedule VII - TESC	120	1111	ψ123.33	\$25,650.00	\$10.00	\$31,125.00	\$100.00	\$17,575.00	\$100.00	\$27,862.50	
CHEDINE VI	II: ROADSIDE RESTORATION											
	mpost Amended Topsoil	5	CY	\$40.00	\$200.00	\$43.00	\$215.00	\$40.00	\$200.00	\$55.00	\$275.00	
	rk or Wood Chip Mulch	10	CY	\$40.00	\$400.00	\$45.00	\$450.00	\$48.00	\$480.00	\$35.00	\$350.00	
	•	6	EA		\$360.00		\$204.00	\$48.00			\$120.00	
	ite Rock Rose (Cystis hybridus) (5 gallon) nedule VIII - Roadside Resetoration	0	EA	\$60.00	\$960.00	\$34.00	\$869.00	\$46.00	\$288.00 \$968.00	\$20.00	\$745.00	
ALTERNATE A		4		¢40,000,00	¢40,000,00	¢E 000 00	¢E 000 00	¢2E 000 00	¢2E 000 00	¢(0,000,00	¢40,000,00	
1000A Mol		1	LS	\$40,000.00	\$40,000.00	\$5,000.00	\$5,000.00	\$35,000.00	\$35,000.00	\$60,000.00	\$60,000.00	
	earing and Grubbing	1	LS	\$25,000.00	\$25,000.00	\$25,304.00	\$25,304.00	\$3,700.00	\$3,700.00	\$1,000.00	\$1,000.00	
	move Existing AsphAlt Concrete Pavement	2,000	SY	\$1.00	\$2,000.00	\$10.00	\$20,000.00	\$6.00	\$12,000.00	\$7.00	\$14,000.00	
	move Cement Concrete Sidewalk	250	SY	\$1.00	\$250.00	\$15.00	\$3,750.00	\$6.00	\$1,500.00	\$12.00	\$3,000.00	
	move Cement Concrete Curb and Gutter	250	LF	\$1.00	\$250.00	\$6.00	\$1,500.00	\$2.00	\$500.00	\$7.50	\$1,875.00	
	adway Excavation Incl. Haul	125	CY	\$10.00	\$1,250.00	\$30.00	\$3,750.00	\$40.00	\$5,000.00	\$20.00	\$2,500.00	
	ushed Surfacing Top Course, 5/8 Inch Minus	250	TON	\$15.00	\$3,750.00	\$25.00	\$6,250.00	\$40.00	\$10,000.00	\$20.00	\$5,000.00	
	IA Class 1/2", PG 64-22	550	TON	\$80.00	\$44,000.00	\$89.00	\$48,950.00	\$100.00	\$55,000.00	\$100.00	\$55,000.00	
	ment Concrete Sidewalk	250	SY	\$22.00	\$5,500.00	\$25.00	\$6,250.00	\$20.00	\$5,000.00	\$35.00	\$8,750.00	
1205A* Cer	ment Concrete Curb and Gutter	250	LF	\$13.00	\$3,250.00	\$17.90	\$4,475.00	\$20.00	\$5,000.00	\$20.00	\$5,000.00	

CITY OF	KENT			6		7		8				
	T NAME: 64th Avenue S. Channel Improvements	BIDDER	'S	Westwater Consti	ruction Co.	R.W. Scott Const	ruction Co.	Ceccanti, Inc.		ENGINEER'S EST	MATE	
	ENING: May 8, 2012 @ 11:00 a.m.	NAME A		31833 Kent-Blk D		4005 West Valley		4116 Brookdale Road E.		Garrett Inouye		
		ADDRES		Auburn, WA 980		Auburn, WA 980	,	Tacoma, WA 984		Carrott mouye		
		ADDITE	,5	Adbuill, WA 700	,,,	Adbarri, WA 700	01	racoma, WA 704	140			
		TOTAL			\$1,431,950.12		\$1,519,559.51		\$2,007,323.34		\$1,360,359.56	
ITEM					TOTAL		TOTAL		TOTAL		TOTAL	
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE	AMOUNT	
1265A*	Remove and Reinstall Fence	500	LF	\$12.00	\$6,000.00	\$16.00	\$8,000.00	\$30.00	\$15,000.00	\$20.00	\$10,000.00	
1335*	Watering	160	HR	\$35.00	\$5,600.00	\$40.00	\$6,400.00	\$100.00	\$16,000.00	\$100.00	\$16,000.00	
	Alternate A-I - Street				\$136,850.00		\$139,629.00		\$163,700.00		\$182,125.00	
AL TERM	ATE A-IV: STORM SEWER											
		2 000	TON	¢45.00	¢13E 000 00	¢74.24	¢222 700 00	¢40.00	¢120,000,00	\$100.00	¢200 000 00	
4001A	Removal and Disposal of Sediment, Refuse and Vegetation from	3,000 1	TON	\$45.00 \$7,500.00	\$135,000.00	\$74.26 \$7,500.00	\$222,780.00 \$7,500.00	\$40.00 \$7,500.00	\$120,000.00	\$100.00 \$7,500.00	\$300,000.00 \$7,500.00	
4195A	Supplemental Channel Bypass Pumping	1	FA		\$7,500.00			· ·	\$7,500.00			
4200A	Temporary Channel Bypass	1	LS	\$20,000.00	\$20,000.00	\$12,500.00	\$12,500.00	\$37,000.00	\$37,000.00	\$25,000.00	\$25,000.00	
4205A	Stormwater Tanker Truck		FA	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	
4210A	Baker Tank	1	FA	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	
	Alternate A-IV - Storm Sewer				\$173,500.00		\$253,780.00		\$175,500.00		\$343,500.00	
ALTERNA	ATE A-V: TRAFFIC CONTROL											
5005A*	Traffic Control Labor	400	HR	\$50.00	\$20,000.00	\$49.00	\$19,600.00	\$50.00	\$20,000.00	\$40.00	\$16,000.00	
5015A*		100	HR	\$55.00	\$5,500.00	\$52.00	\$5,200.00	\$100.00	\$10,000.00	\$45.00	\$4,500.00	
5020A	Temporary Traffic Control Devices	1	LS	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$3,700.00	\$3,700.00	\$5,000.00	\$5,000.00	
5030A*	Portable Changeable Message Sign (PCMS)	85	DAY	\$40.00	\$3,400.00	\$75.00	\$6,375.00	\$20.00	\$1,700.00	\$140.00	\$11,900.00	
5035A*	Sequential Arrow Sign (SAS)	85	DAY	\$20.00	\$1,700.00	\$25.00	\$2,125.00	\$10.00	\$850.00	\$70.00	\$5,950.00	
	Alternate A-V - Traffic Control				\$34,600.00		\$37,300.00	·	\$36,250.00		\$43,350.00	
	ATE A - VIII: TEMPORARY EROSION AND SEDIMENTATION CO											
7000A*	Seeding, Fertilizing, and Mulching	3,500	SY	\$2.00	\$7,000.00	\$3.00	\$10,500.00	\$1.00	\$3,500.00	\$0.50	\$1,750.00	
7010A	Erosion Control Blanket	3,500	SY	\$3.00	\$10,500.00	\$1.00	\$3,500.00	\$2.00	\$7,000.00	\$3.00	\$10,500.00	
7015A*	Inlet Protection	2	EA	\$100.00	\$200.00	\$100.00	\$200.00	\$100.00	\$200.00	\$125.00	\$250.00	
7020A*	Straw Mulch	500	SY	\$2.00	\$1,000.00	\$5.00	\$2,500.00	\$2.00	\$1,000.00	\$5.00	\$2,500.00	
7025A*	Clear Plastic Covering	500	SY	\$2.00	\$1,000.00	\$5.00	\$2,500.00	\$2.00	\$1,000.00	\$2.00	\$1,000.00	
7030A*	ESC Lead	250	HR	\$20.00	\$5,000.00	\$50.00	\$12,500.00	\$10.00	\$2,500.00	\$30.00	\$7,500.00	
7035A*	Street Cleaning	60	HR	\$125.00	\$7,500.00	\$40.00	\$2,400.00	\$100.00	\$6,000.00	\$100.00	\$6,000.00	
	Alternate A-VII - TESC				\$32,200.00		\$34,100.00		\$21,200.00		\$29,500.00	
AI TEDNI	ATE A- VIII - ROADSIDE RESTORATION											
8005A*	Compost Amended Topsoil	150	CY	\$40.00	\$6,000.00	\$43.00	\$6,450.00	\$40.00	\$6,000.00	\$55.00	\$8,250.00	
8005A 8015A*	·	50	CY	\$40.00	\$2,000.00	\$45.00	\$2,250.00	\$48.00	\$2,400.00	\$35.00	\$1,750.00	
8030A	Shore Pine (Pinus contorta var. contorta) (5 gallon)	18	EA	\$60.00	\$1,080.00	\$23.00	\$2,230.00	\$48.00	\$864.00	\$35.00	\$630.00	
8035A	Bitter Cherry (Prunus emarginata) (2 gallon)	18	EA	\$20.00	\$360.00	\$18.00	\$324.00	\$10.00	\$180.00	\$25.00	\$450.00	
8035A 8040A		33	EA	\$20.00	\$330.00	\$18.00	\$324.00 \$293.70	\$10.00 \$6.00	\$198.00	\$25.00 \$15.00	\$495.00 \$495.00	
8040A 8045A	Black Hawthorn (Crataegus douglasii) (1 gallon)			\$10.00	\$330.00	\$8.90	\$293.70 \$293.70	\$6.00 \$6.00	\$198.00	\$15.00 \$15.00	\$495.00 \$495.00	
8045A 8050A		33 33	EΑ	\$10.00	\$330.00	\$8.90	\$293.70 \$293.70	\$6.00 \$6.00	\$198.00	\$15.00	\$495.00 \$495.00	
	Snowberry (Symphoricarpos albus) (1 gallon) Nootka Rose (Rosa nutkana) (1 gallon)		EΑ		\$330.00		\$293.70 \$293.70					
8055A	, , , , ,	33	EΑ	\$10.00 \$10.00		\$8.90		\$6.00 \$6.00	\$198.00 \$108.00	\$15.00 \$15.00	\$495.00	
8060A	Tall Oregon Grape (Mahonia aquifolium) (1 gallon) Sitka Willow (Salix sitchensis) (3' ht. min. live stake)	33 1.070	EΑ	\$10.00	\$330.00	\$8.90	\$293.70	\$6.00 \$3.00	\$198.00	\$15.00	\$495.00	
8065A		1,070	EA	\$5.00	\$5,350.00	\$5.00	\$5,350.00	\$2.00	\$2,140.00	\$5.00	\$5,350.00	
8070A	Red Osier Dogwood (Cornus sericea) (3' ht. min. live stake)	360	EA	\$5.00	\$1,800.00	\$4.00	\$1,440.00	\$2.00	\$720.00	\$5.00	\$1,800.00	
8075A	Pacific Ninebark (Physocarpus capitatus) (1 gallon)	180	EA	\$10.00	\$1,800.00	\$8.90	\$1,602.00	\$6.00	\$1,080.00	\$15.00	\$2,700.00	
8080A	Black Twinberry (Lonicera involucrata) (1 gallon)	180	EA	\$10.00	\$1,800.00	\$8.90	\$1,602.00	\$6.00	\$1,080.00	\$15.00	\$2,700.00	
	Alternate A-VIII - Roadside Restoration				\$21,840.00		\$20,900.50		\$15,454.00		\$26,105.00	

CITY OF KENT			6	7	8	
PROJECT NAME: 64th Avenue S. Channel Improvements BIDDER'S			Westwater Construction Co.	R.W. Scott Construction Co.	Ceccanti, Inc.	ENGINEER'S ESTIMATE
BID OPENI	NG: May 8, 2012 @ 11:00 a.m.	NAME AND	31833 Kent-Blk Diamond Rd.	4005 West Valley Hwy. #A	4116 Brookdale Road E.	Garrett Inouye
		ADDRESS	Auburn, WA 98092	Auburn, WA 98001	Tacoma, WA 98446	
		TOTAL	\$1,431,950.12	\$1,519,559.51	\$2,007,323.34	\$1,360,359.56
ITEM			TOTAL	. TOTAL	TOTAL	TOTAL
NO.	DESCRIPTION	QTY UNIT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT
В	BID SUMMARY					
B	BASE BID					
_	Schedule I - Street		\$117,500.00	\$336,700.00	\$450,750.00	\$135,020.00
S	Schedule II - Water		\$55,050.00	\$67,113.00	\$42,525.00	\$38,850.00
S	Schedule IV - Storm Sewer		\$645,342.00	\$398,069.08	\$844,700.00	\$338,030.00
S	Schedule V - Traffic Control		\$64,225.00	\$68,140.00	\$64,550.00	\$77,250.00
S	Schedule VII - Temporary Erosion and Sedimentation Cor	ntrol	\$25,650.00	\$31,125.00	\$17,575.00	\$27,862.50
S	ScheduleVIII - Roadside Restoration		\$960.00	\$869.00	\$968.00	\$745.00
S	Sub-Total		\$908,727.00	\$902,016.08	\$1,421,068.00	\$617,757.50
V	VSST 9.5%		\$86,329.07	\$85,691.53	\$135,001.46	\$58,686.96
Т	otal Base Bid Amount		\$995,056.07	\$987,707.61	\$1,556,069.46	\$676,444.46
А	ALTERNATE A					
A	Ilternate A-I - Street		\$136,850.00	\$139,629.00	\$163,700.00	\$182,125.00
А	Ilternate A-IV - Storm Sewer		\$173,500.00	\$253,780.00	\$175,500.00	\$343,500.00
A	lternate A-V - Traffic Control		\$34,600.00	\$37,300.00	\$36,250.00	\$43,350.00
Α	Iternate A-VII - Temporary Erosion and Sedimentation (Control	\$32,200.00	\$34,100.00	\$21,200.00	\$29,500.00
Α	Ilternate A-VIII - Roadside Restoration		\$21,840.00	\$20,900.50	\$15,454.00	\$26,105.00
S	Sub-Total		\$398,990.00	\$485,709.50	\$412,104.00	\$624,580.00
V	VSST 9.5%		\$37,904.05	\$46,142.40	\$39,149.88	\$59,335.10
Т	otal Alternate A Amount		\$436,894.05	\$531,851.90	\$451,253.88	\$683,915.10
Т	otal Bid Amount		\$1,431,950.12	\$1,519,559.51	\$2,007,323.34	\$1,360,359.56